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top.v

module top(

input [31:0] a,

input [31:0] Db,
output [31:0] result
)

wire [31:0] tmp[0:4];

assign tmp[0]=a;
assign tmp[l]=b;

alu alul (tmp[O],tmp[l], ,tmp[2]1)
alu alu2(tmp[l],tmp[2], ,tmp[31)
alu alu3(tmp[2],tmp[3], ,Emp[4]) 5
alu alu4 (tmp[3],tmp[4], ,result) ;
endmodule
alu.v
parameter A NOP = ; //nop
parameter A ADD = ; //sign_add
parameter A SUB = ; //sign sub
parameter A AND = ; //and
parameter A OR = ; //or
parameter A XOR = ; //xor
parameter A NOR = ; //nor
module alu(
input [31:0] alu a,
input [31:0] alu b,
input [4:0] alu op,
output reg [31:0] alu out

)
always@ (*)
case (alu op)
A NOP: alu out = 0;
A ADD: alu out = alu a + alu b;
A SUB: alu out = alu a - alu b;
A AND: alu out = alu a & alu b;
A OR : alu out = alu a | alu b;
A XOR: alu out = alu a * alu b;
A NOR: alu out = ~(alu a | alu b);
default: alu out = 0;
endcase
endmodule




toptest.v

module toptest;

// Inputs
reg [31:0] a;
reg [31:0] b;

// Outputs

wire [31:0] result;

// Instantiate the Unit Under Test (UUT)
top uut (

.a(a),

.b(b),

.result (result)

)

initial begin

#

// Initialize Inputs
a=2;

b= 2;

// Wait 100 ns for global reset to finish
# ;

// Add stimulus here

end

endmodule

alutest.v

module testbunchl () ;

// Inputs

reg [31:0] a,b;
reg [4:0] op;

// Outputs

wire [31:0] out;

alu alu(a,b,op,out);
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end
endmodule




